
www.tvilum.com 70073U -50  A 

70073U



X24-6 hr

 70073U2 / 28



Ø6,3x40 mm
Ø0.25x1.57"

x320120228

Ø0.59x0.37"
Ø15x9,5 mm

0131687 x22

17x310/310 mm

0141404

0.67x12.20/12.20"

x16

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

0131513 x22

M4x0.35"
M4x9 mm

0126214 x16

Ø0.28x1.97"
Ø7x50 mm

0125610 x6

149x24x12 mm
5.89x0.94x0.47"

x80181113

0.79x0.79x0.63x0.08"
20x20x16x2 mm

0113412 x4

Ø5x30 mm
Ø0.2x1.18"

x600120203

Ø4x25 mm
Ø0.16x0.98"

x160125506

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x32

Ø0.24x0.98"
Ø6,2x25 mm

0126032 x8
Ø4x20 mm

Ø0.16x0.79"

x60125253

Ø4,2x13 mm
Ø0.17x0.51"

0126007 x4

Ø0.14x0.59"
Ø3,5x15 mm

0125233 x36

Ø1.97x0.79"
Ø50x20 mm

0166205 x6

3.94x2.17"
100x55 mm

0194073 x2

Ø0.28x0.06"
Ø7x1,5 mm

0196203 x16

4x49x37 mm
0.16x1.93x1.46"

x10197642

70073U3 / 28



 70073U4 / 28

LC

FB

HB

GB

IC

S
S

S
S

SA

SA

06093 x8

03425 x8

00753 x8

00754 x8

ED x8

x8



345x140x12,2mm

635x140x12,2mm

345x140x12,2mm

764x384x32mm666x385x15mm

646x342x2,5mm

 70073U5 / 28

BOX 1/2

00753 x8

03425 x8

00754 x8

GBSA

06093 x8



764x384x15mm

763x333,5x15mm

1400x385x15mm

698x197x15mm

764x384x15mm

1400x385x18mm

 70073U6 / 28

BOX 2/2

FB

S x4

IC

ED x8

HB

LC



1

17x310/310 mm
0.67x12.20/12.20"

0141404 x4

0125233

*

4

0125233

*

3

0126020

2

0126020

1

*
Ø3,5x15 mm
Ø0.14x0.59"

x80125233

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x8

 70073U7 / 28

1

FB



Ø5x30 mm
Ø0.2x1.18"

x40120203

 70073U8 / 28

2

FB



17x310/310 mm
0.67x12.20/12.20"

0141404 x4

0125233

*

4

0125233

*

3

0126020

2

0126020

1

*
Ø3,5x15 mm
Ø0.14x0.59"

x80125233

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x8

1

 70073U9 / 28

3

HB



Ø5x30 mm
Ø0.2x1.18"

x40120203

 70073U10 / 28

4

HB



17x310/310 mm
0.67x12.20/12.20"

0141404 x4

0125233

*

4

0125233

*

3

0126020

2

0126020

1

*
Ø3,5x15 mm
Ø0.14x0.59"

x80125233

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x8

1

 70073U11 / 28

5

GB



1

17x310/310 mm
0.67x12.20/12.20"

0141404 x4

*
Ø3,5x15 mm
Ø0.14x0.59"

x80125233

Ø0.23x0.35"
Ø5,8x9 mm

0126020 x8

*

0125233

3

*

0125233

4

0126020

2

0126020

1

 7007312 / 28

6

GB



Ø5x30 mm
Ø0.2x1.18"

x40120203

Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x60131513

 70073U13 / 28

7

8

LC

GB



Ø5x30 mm
Ø0.2x1.18"

x160120203

Ø0.24x0.98"
Ø6,2x25 mm

0126032 x8

0.79x0.79x0.63x0.08"
20x20x16x2 mm

0113412 x4

Ø4,2x13 mm
Ø0.17x0.51"

0126007 x4

 70073U14 / 28

9

10

SA

S

S

x2

S x4



Ø7x50 mm
Ø0.28x1.97"

x60125610

4x49x37 mm
0.16x1.93x1.46"

x10197642

Ø50x20 mm
Ø1.97x0.79"

x60166205

/2816

Ø4x20 mm
Ø0.16x0.79"

x60125253

 70073U15 / 28

11

12

GB

HB

IC

FB



X2

  

1

3

  

2

16 / 28  70073U



21 3

Ø15x9,5 mm
Ø0.59x0.37"

x60131687

 70073U17 / 28

13

14

S

SA

S

SA

IC

FB

HB

GB

LC



Ø0.28x0.06"
Ø7x1,5 mm

0196203 x16

Ø3,5x15 mm
Ø0.14x0.59"

x40125233

 70073U18 / 28

15

16



19 / 28



20 / 28



21 / 28



3.94x2.17"
100x55 mm

0194073 x2

/2823

 70073U22 / 28

17



?

?

3
0

m
m

1
 (

1
/5

)"

?

8

1 2 3

4 5 6

7

10 11 12

9

the top panel with the provided 

STEP 1: Move the furniture to its 
appointed wall. 

STEP 2: With a pencil, make 
markings on the wall based on the 
holes in the top panel.

STEP 3: Move the furniture away 
from the wall.

STEP 4: From the marking(s) on 
the wall, measure 30mm / 1(1/5)" 
downwards and create another 
marking(s). 

STEP 5: Use a drill to make a hole 
in your wall. Please consult your 
local hardware store for guidance 
on which fittings to use for your 
wall.

STEP 6: With a hammer, insert the 
appropriate wallplug / anchor into 
the newly made holes in your wall.

STEP 7: Remove / wipe the pencil 
markings from before.

STEP 8: As illustrated, attach the 
provided tip-over restraint(s) with a 
screw - please consult your local 
hardware store.

STEP 9: Move the furniture back 
close to the wall with some space 
between them.

STEP 10: Insert the tip-over 
restraint(s) that are attached on the 
wall through the hole(s) in the top 
panel on the backside of the 
furniture.

STEP 11: Move the furniture up 
against your wall.

STEP 12: Lastly, from the inside of 
the furniture, secure the tip-over 
restraint(s) to the bottom side of 

screw(s).

23 / 28 70073U



Ø7,5x44/34 mm
Ø0.30x1.73/1.34"

x160131513

Ø5x30 mm
Ø0.2x1.18"

x320120203

 70073U24 / 28

18

19

ED x8

00754 x8

00753 x8



Ø15x9,5 mm
Ø0.59x0.37"

x160131687

 70073U25 / 28

20

21

ED

00753

00754

x8

x8

06093



Ø6,3x40 mm
Ø0.25x1.57"

x320120228

Ø4x25 mm
Ø0.16x0.98"

x160125506

149x24x12 mm
5.89x0.94x0.47"

x80181113

 70073U26 / 28

22

23

x8

03425

x8



M4x9 mm
M4x0.35"

x160126214

2

3

1

 70073U27 / 28

24

ED

ED

ED

ED

ED

ED

ED

ED



MAX

lbs

kg

66
30

lbs

kg

15
7

© TVILUM A/S 2018 28 / 28 70073


